TR
4.12 4. 11 KD (a4
1))
AR PICE 6.894 6.8957 |-0.0017 | -0.02%
WT IR (& T/48) 53. 11 53. 40 -0. 29 —0. 5%
T4k Bk (EU/AR) 55. 86 56. 23 -0. 37 —0. 7%
Lfmih (CFRH K) (En/ 497 491 6. 00 1. 2%
MX (CFR& & £ T/vh) 690 690 0. 00 0. 0%
PX (CFR&EE) (E /) 836 858 -22.00 -2. 6%
PTASN 3 (£ 7Lvk) 645 645 0. 00 0. 0%
PTAR & (Ju/w) 4,915 4,975 -60. 00 -1.2%
L MEG/M & (£ T/vd) 739 742 -3.00 —0. 4%
MEGA & (T/vk) 6,175 6, 220 -45. 00 —0. 7%
REstn A (/) 6,900 6,925 -25. 00 —0. 4%
saer (/) 7, 600 7, 600 0. 00 0. 0%
A (Gu/4) 7,300 7,325 -25.00 -0. 3%
POY (T/#k) 8, 100 8, 050 50. 00 0. 6%
DTY (5u/=%) 9,500 9,500 0. 00 0. 0%
FDY (5t/#k) 8125 8075 50. 00 0. 6%
i) 85% 75% 10% 13. 3%
5 A 1705445 (/") 4916 4964 -48. 00 -1. 0%
’ }fr 170944 (5L/vk) 5066 5124 -58. 00 -1.1%
180144 (Gu/v») 5206 5270 —64. 00 -1.2%
G EEm £ (E /) 106. 64 98. 51 8.13 8. 3%
PX—& i £ (£ /) 339. 00 367.00 -28 —7. 6%
PTAMu T %% 403. 02 343.14 59. 88 17. 5%
POY A (Jn/») 605. 6 489.225 | 116.38 23. 8%
DTYAE (Gu/#) 200. 00 250. 00 -50 -20. 0%
o /A1 FDY A (Gu/».) 230. 6 114.225 | 116.38 | 101.9%
sE e Al (n/vh) 405. 6 339. 225 66. 38 19. 6%
A AE (GL/#k) 205. 6 164. 225 41.38 25. 2%
#RA AlE (GT/h) 205. 6 164. 225 41.38 25. 2%
M (24) amE (L/w) -151 -149 -2 1. 3%
1709-17054 £ (Gu/») 150 160 -10 -6. 3%
1801-17094 £ (5u/#k) 140 146 -6 —4. 1%
PTAL) FI X 63. 71 63. 71 0 0. 0%
FILE EBE L) FIE 86.16 86. 21 -0. 05 -0. 1%
ML FLE 78.5 78.5 0 0. 0%
A% GEM+FAIR) 251, 253 250, 301 952 0. 4%
T~ 3P TTRO] e ] %0 WZH PR E ] ARG T T T, TRFI 75 3 O 7HTIIT
& A 545-60K, 2. B B =5 %2207 ob/SPTAE Bt X F3H25H-4F 68
(13K A%A) #1145, HEEH AT H h, 3. B KEI75H b/ FPTAE F it X4
=B HA A 1% 210K £ 4, kﬁlr%%\é\%#ﬁﬁwiﬁﬁo 4. ?5&@4&12975
= lebh /S HPTAE B RIS A W12 Z S 15 XL, 5. NAEILE 2016552 23012 %
ety ZEBCTFIA28HBE R 2017583-4 0 iy At R, 6. F &AL
FEALLFPTAR Z 761007 b/ F, H P15 &35 vb/ Fa9REL4A6B 175, X4
Ooann & pr




T AR i [B) B ik e R 37 B B SH KSR, PX KM T 2k21.5% 4. PTARA X HEF &
3353, B, MMREBAR T HELERGFAAT K30 weflsk, BaAT
HE (BARTHRARAFFTEN, m LB EENT BN, PTALEATRED . £
TR AN AT U BT R G0E UTPTAT A 4 K2 35 B 35, b =1k
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